Name: Date:

Multiplication Visual Models: Multiple Choice

Directions: Which one is not true? Circle your answer for each question below.

1. Which of the following does NOT represent 6 x 97

.. DDNDDDEEEm b.
54

o o @) d 0000 0000 0000

C. 0000 0000 0000 0000 0000 0000
0000 0000 0000

0000 0000 0000

o (@) (@)
0000 0000 0000 0000 0000 0000

0000 0000 0000

2. Which of the following does NOT represent 7 x 77

a o o b. Doooooo
RS | | o o o o | o o o
I | o o o | o o o
| o o o O00000o0d
Booeee e
o o o | o o o
OOOODEOEEE
0000 d.
C 000 49
0000 0000 0000
000 000 000
0000 0000 0000
000 000 000
3. Which of the following does NOT represent 8 x 97
a. o o b.
] i 72
0 o o
C. 000 000 000 000 d. 0000 0000 0000 0000
000 000 000 000 0000 0000 0000 0000
006 000 0060 000 0000 0000 0000 0000
000 000 000 000 0000 0000 0000 0000
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4. Which of the following does NOT represent 9 x 67

a. OOOOOOOOC b. DDNEEEE
o o o o [ o [ o | 1 o [ o o
o o o o [ o [ o | 10 [
OO0O0O0O000ooOd ======
o OOOOoD
| o o |
| o o |
OOOEEE
c. 000 000 000 d.
000 000 000
000 000 000 54
000 000 000
000 000 000
000 000 000
5. Which of the following does NOT represent 6 x 77
a. b.
42 41
- & 838° 883° 888°
OO000000 0000 0000 0000
0000000 000 000 000
I o o o o [
o o o o o

6. Which of the following does NOT represent 8 x 8?

a.

b.

64
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